CENTRALIZERS IN LIE ALGEBRAS

DOI: 10.1007/s13226-018-0252-0

Somayeh Saffarnia*, Mohammad Reza R. Moghaddam**,*** and Mohammad Amin Rostamyari**

*International Campus, Faculty of Mathematical Sciences,
Ferdowsi University of Mashhad, Mashhad, Iran

**Department of Mathematics, Khayyam University, Mashhad, Iran

***Department of Pure Mathematics, Centre of Excellence in Analysis on Algebraic Structures

(CEAAS), Ferdowsi University of Mashhad, P.O. Box 1159, Mashhad, 91775, Iran

e-mails: s_saffarnia67@yahoo.com; m.r.moghaddam@khayyam.ac.ir;

rezam@ferdowsi.um.ac.ir; m.a.rostamyari@khayyam.ac.ir

(Received 26 December 2016; after final revision 15 April 2017; accepted 16 May 2017)

We determine the number of centralizers of different non-abelian finite dimensional Lie algebras over a specific field. Also, the concept of Lie algebras with abelian centralizers are studied and using a result of Bokut and Kukin [5], for a given residually free Lie algebra L, it is shown that L is fully residually free if and only if every centralizer of non-zero elements of L is abelian.

Key words: Centralizer; *n*-centralizer Lie algebras; CT Lie algebra; free Lie algebra.

1. Introduction and Preliminaries

Let L be a finite dimension Lie algebra over the fixed field F. Then for any element $x \in L$, the set $C_L(x) = \{y \in L \mid [x,y] = 0\}$ is called the *centralizer* of x in L. The set of all centralizers in L is denoted by Cent(L) and |Cent(L)| denotes the number of distinct centralizers in L. A Lie algebra L is called n-centralizer if |Cent(L)| = n and L is called p-rimitive n-centralizer if |Cent(L/Z(L))| = |Cent(L)| = n, where Z(L) is the centre of L. A subalgebra K of L is called p-riper centralizer of L if $K = C_L(x)$, for some $x \in L \setminus Z(L)$.

Similar to group theory, it is clear that L is abelian if and only if |Cent(L)| = 1.

Lemma 1.1 — Let L_1 and L_2 be Lie algebras, then

$$Cent(L_1 \oplus L_2) = Cent(L_1) \oplus Cent(L_2).$$

PROOF: Clearly, the Lie product of elements of $L_1 \oplus L_2$ is defined by $[(x_1,x_2),(y_1,y_2)] = ([x_1,y_1],[x_2,y_2])$, for all $x_i,y_i \in L_i$ (i=1,2). Now the result follows from the property that $C_{(L_1 \oplus L_2)}(x_1,x_2) = C_{L_1}(x_1) \oplus C_{L_2}(x_2)$, for all $x_1 \in L_1$ and $x_2 \in L_2$.

Lemma 1.2 — For a Lie algebra L, the centre Z(L), is the intersection of all centralizers in L, i.e. $Z(L) = \bigcap_{x \in L} C_L(x)$, for all $x \in L$.

PROOF : Clearly, $Z(L) \subseteq \bigcap_{x \in L} C_L(x)$. Now, suppose that $l \in \bigcap_{x \in L} C_L(x)$, then [x, l] = 0, for all $x \in L$ and so $l \in Z(L)$, which gives the claim.

Lemma 1.3 — If L is a non-abelian Lie algebra, then L is the union of centralizers of all non-central elements of L.

PROOF: Clearly, $\bigcup_{x\in L-Z(L)} C_L(x)\subseteq L$. Let $l\in Z(L)$, then by using Lemma 1.2, $l\in C_L(x)$ for all $x\in L$ and since $l\in C_L(l)$ it follows that $l\in \bigcup_{x\in L-Z(L)} C_L(x)$. Therefore $L\subseteq \bigcup_{x\in L-Z(L)} C_L(x)$ and the proof is complete.

Lemma 1.4 — A Lie algebra L can not are written as a union of two proper Lie subalgebras.

PROOF: Suppose H and K are two proper Lie subalgebras of L such that $L=H\cup K$. Let $h\in H-K$ and $k\in K-H$, then either $h+k\in H$ or $h+k\in K$, which imply $k\in H$ or $h\in K$, respectively. This gives a contradiction. Therefore $h+k\not\in L$, which gives the lemma. \square

Theorem 1.5 — Let L be a non-abelian Lie algebra, then $|Cent(L)| \ge 4$.

PROOF: By Lemma 1.3, L is the union of its proper centralizers. Since L is non-abelian, we have |Cent(L)| > 1. If |Cent(L)| = 2, then L is the proper Lie subalgebra of itself, which is impossible. Suppose |Cent(L)| = 3, then $Cent(L) = \{L, C_L(x), C_L(y)\}$, where $C_L(x)$ and $C_L(y)$ are proper centralizers of L. Therefore $L = C_L(x) \cup C_L(y)$, which is impossible by Lemma 1.4. Hence, $|Cent(L)| \ge 4$.

2. COUNTING CENTRALIZERS IN LIE ALGEBRAS

In this section, we study the centralizers of low-dimensional Lie algebras over the Galois field of p elements, \mathbb{Z}_p , for any prime number p.

Lemma 2.1 — Let L_i 's be finite dimensional Lie algebras with $|Cent(L_i)| = n_i$, for i = 1, 2, ..., r. Then $|Cent(L_1 \oplus L_2 \oplus ... \oplus L_r)| = \prod_{i=1}^r n_i$.

PROOF : Assume $L = L_1 \oplus L_2 \oplus ... \oplus L_r$. Using Lemma 1.1, we have

$$C_L(x_1, x_2, ..., x_r) = C_{L_1}(x_1) \oplus C_{L_2}(x_2) \oplus ... \oplus C_{L_r}(x_r)$$

for all $(x_1,x_2,...,x_r)\in L$. It follows that $C_L(x_1,x_2,...,x_r)=C_L(y_1,y_2,...,y_r)$ if and only if $C_{L_i}(x_i)=C_{L_i}(y_i)$, for all $1\leq i\leq r$. This implies that $|Cent(L_1\oplus L_2\oplus...\oplus L_r)|=\prod_{i=1}^r n_i$. \square

Lemma 2.2 — Let K be a subalgebra of a finite dimensional Lie algebra L. Then $|Cent(K)| \leq |Cent(L)|$.

PROOF: Let $k_1, k_2, ..., k_m$ be a basis of K, and $C_K(k_1), ..., C_K(k_m)$ be the distinct centralizers in K. On the other hand, $C_K(k_i) = K \cap C_L(k_i)$ then $C_L(k_i) \neq C_L(k_j)$, for all $i \neq j$, where $1 \leq i, j \leq m$, and hence the lemma is obtained.

Lemma 2.3 — Let L be n-centralizer Lie algebra with $L^2 \cap Z(L) = 0$. Then L is a primitive n-centralizer.

PROOF: Suppose that $Cent(L)=\{C_L(x_1),C_L(x_2),...,C_L(x_n)\}$ is the set of all distinct centralizers in L. One can easily check that $C_{L/Z(L)}(x+Z(L))=C_L(x)/Z(L)$. Hence it is enough to show that for any $1\leq i\neq j\leq n$, $C_{L/Z(L)}(x_i+Z(L))\neq C_{L/Z(L)}(x_j+Z(L))$. So assume there exist some $1\leq i\neq j\leq n$ such that $C_{L/Z(L)}(x_i+Z(L))=C_{L/Z(L)}(x_j+Z(L))$. Suppose $y\in C_L(x_i)$, then $y+Z(L)\in C_{L/Z(L)}(x_i+Z(L))=C_{L/Z(L)}(x_j+Z(L))$ and by the assumption we have $[y,x_j]=0$, i.e., $C_L(x_i)\subseteq C_L(x_j)$. Using similar argument, we have $C_L(x_j)\subseteq C_L(x_i)$ which gives a contradiction. Thus |Cent(L/Z(L))|=n and hence L is a primitive n-centralizer. \square

In the following, we determine the number of centralizers of 2-dimension non-abelian Lie algebra over the Galois field of p elements.

Theorem 2.4 — Let L be a 2-dimension non-abelian Lie algebra over the field \mathbb{Z}_p . Then |Cent(L)| = p + 2.

PROOF: Clearly there exists a unique 2-dimension non-abelian Lie algebra over any field. The centre of this Lie algebra is trivial and the Lie algebra has a basis $\{x,y\}$ such that its Lie bracket is described by [x,y]=x. Clearly

$$C_L(x) = \langle x \rangle, C_L(y) = \langle y \rangle, C_L(\alpha x + \beta y) = \langle \alpha x + \beta y \rangle,$$

and the number of distinct $C_L(\alpha x + \beta y) = \langle \alpha x + \beta y \rangle$ is equal to $\frac{(p-1)^2}{p-1} = p-1$, for all non-zero $\alpha, \beta \in \mathbb{Z}_p$. Now adding the centralizers $C_L(x)$, $C_L(y)$ and L, we have |Cent(L)| = p+2.

Definition 2.5 — Let L be a 3-dimension non-abelian Lie algebra over a field F, with L^2 to be 1-dimension so that L^2 is contained in Z(L). Such a Lie algebra is known as Heisenberg Lie algebra.

Theorem 2.6 — Let L be Heisenberg Lie algebra over the field \mathbb{Z}_p , then |Cent(L)| = p + 2.

PROOF : Clearly there is a unique such a Lie algebra, and it has a basis $\{f,g,z\}$, where [f,g]=z and z lies in Z(L). Hence for every $y\in C_L(f)$ there exist $\alpha,\beta,\gamma\in\mathbb{Z}_p$ such that $y=\alpha f+\beta g+\gamma z$, then

$$0 = [f, y] = [f, \alpha f + \beta g + \gamma z] = \beta [f, g] = \beta z,$$

and so $\beta=0$. Thus $C_L(f)=\langle \alpha f+\gamma z\rangle$. Similarly $C_L(g)=\langle \beta g+\gamma z\rangle$, $C_L(\alpha f+\beta g)=\langle \alpha f+\beta g+\gamma' z\rangle$, $C_L(f+z)=C_L(f)$, $C_L(g+z)=C_L(g)$, $C_L(\alpha f+\beta g+\gamma z)=C_L(\alpha f+\beta g)$ and clearly $C_L(z)=L$. Now for any non-zero elements $\alpha,\beta\in\mathbb{Z}_p$, we have $\frac{(p-1)^2}{p-1}=p-1$ distinct centralizers of the form $C_L(\alpha f+\beta g)$. So |Cent(L)|=p-1+3=p+2.

Example 2.7: Let $L=n(3,\mathbb{Z}_p)=\langle e_{12},e_{13},e_{23}\rangle$ be the Lie algebra of non-zero strictly upper triangular matrices, then $[e_{12},e_{23}]=e_{13}$ and $L^2=Z(L)$. Hence, the above theorem implies that |Cent(L)|=p+2.

As in Theorem 3.2 [8], there exists a unique 3-dimensional Lie algebra over a field F such that L^2 is 1-dimension and $L^2 \not\subseteq Z(L)$. Hence such a Lie algebra is the direct sum of the non-abelian 2-dimension with 1-dimension Lie subalgebras.

Theorem 2.8 — Let L be the 3-dimensional Lie algebra as above over the field \mathbb{Z}_p . Then |Cent(L)| = p + 2.

PROOF: By the assumption we may write $L=L_2\oplus L_1$, where L_2 is 2-dimensional non-abelian and L_1 is 1-dimensional Lie algebra over \mathbb{Z}_p . By Lemma 2.1, $\big|Cent(L)\big| = \big|Cent(L_2)\big|\big|Cent(L_1)\big| = (p+2)\times 1 = p+2$.

The following lemma is very useful for our further study.

Lemma 2.9 — ([8], Lemma 3.3). Let L be a Lie algebra with dimension 3 and $dimL^2=2$. Then

- (i) L^2 is abelian;
- (ii) the map $adx: L^2 \to L^2$ is an isomorphism, for all $x \in L L^2$.

Theorem 2.10 — Let L be a Lie algebra with dimension 3 over the field \mathbb{Z}_p and $dimL^2=2$. Then $|Cent(L)|=p^2+2$.

PROOF: Let $\{y, z\}$ be a basis for the derived subalgebra L^2 and extend it to a basis $\{x, y, z\}$ for L. Then the derived subalgebra L^2 is abelian, and hence [y, z] = 0. Therefore we have $C_L(y) = \{l = \alpha x + \beta y + \gamma z \mid [y, l] = 0\} = \langle \beta y + \gamma z \rangle$, $C_L(z) = C_L(y)$, $C_L(x) = \langle x \rangle$, $C_L(x + y) = \langle \alpha x + \alpha y \rangle$,

$$C_L(x+z) = \langle \alpha x + \alpha z \rangle$$
, $C_L(y+z) = C_L(z) = C_L(y)$, $C_L(x+y+z) = \langle \alpha x + \alpha y + \alpha z \rangle$, $C_L(\alpha x + \beta y) = \langle \alpha x + \beta y \rangle$, $C_L(\alpha x + \beta z) = \langle \alpha x + \beta z \rangle$, $C_L(\alpha x + \beta y + \gamma z) = \langle \alpha x + \beta y + \gamma z \rangle$.

Clearly, each cases $\langle \alpha x, \beta y \rangle$ and $\langle \alpha x + \beta z \rangle$, has $(p-1)^2$ distinct set of centralizers so that every set contains p-1 elements. Hence each of these have only $\frac{(p-1)^2}{p-1} = p-1$ distinct sets. Also for $C_L(\alpha x + \beta y + \gamma z) = \langle \alpha x + \beta y + \gamma z \rangle$ we have $\frac{(p-1)^3}{p-1} = (p-1)^2$ distinct sets. Therefore the number of Cent(L) is equal to $(p-1)^2 + 2(p-1) + 3 = p^2 + 2$.

The following example justifies the above theorem.

Example 2.11 : Consider the 3-dimension Lie algebra L with the basis $\{x, y, z\}$ as in Theorem 2.10 over the field \mathbb{Z}_5 , then one may calculate all the centralizers of L in the following way:

```
C_L(x) = \{0, x, 2x, 3x, 4x\}, C_L(y) = \{0, y, 2y, 3y, 4y\}, C_L(0) = L_L(y)
C_L(x+y) = \{0, x+y, 2(x+y), 3(x+y), 4(x+y)\},\
C_L(x+z) = \{0, x+z, 2(x+z), 3(x+z), 4(x+z)\},\
C_L(y+z) = C_L(z) = C_L(y),
C_L(x+y+z) = \{0, x+y+z, 2(x+y+z), 3(x+y+z), 4(x+y+z)\},
C_L(2x+y) = \{0, 2x+y, 4x+2y, x+3y, 3x+4y\},\
C_L(3x + y) = \{0, 3x + y, x + 2y, 4x + 3y, 3x + 4y\},\
C_L(4x + y) = \{0, 4x + y, 3x + 2y, 2x + 3y, x + 4y\}
C_L(2x+z) = \{0, 2x+z, 4x+2z, x+3z, 3x+4z\},\
C_L(3x+z) = \{0, 3x+z, x+2z, 4x+3z, 2x+4z\},\
C_L(4x+z) = \{0, 4x+z, 3x+2z, 2x+3z, x+4z\}.
C_L(2x+y+z) = \{0, 2x+y+z, 4x+2y+2z, x+3y+3z, 3x+4y+4z\}
C_L(3x+y+z) = \{0, 3x+y+z, x+2y+2z, 4x+3y+3z, 3x+4y+4z\}\}.
C_L(4x+y+z) = \{0, 4x+y+z, 3x+2y+2z, 2x+3y+3z, x+4y+4z\}
C_L(x+2y+z) = \{0, x+2y+z, 2x+4y+2z, 3x+y+3z, 4x+3y+4z\}\}
C_L(x+3y+z) = \{0, x+3y+z, 2x+y+2z, 3x+4y+3z, 4x+2y+4z\}
C_L(x+4y+z) = \{0, x+4y+z, 2x+3y+2z, 3x+2y+3z, 4x+y+4z\}
C_L(x+y+2z) = \{0, x+y+2z, 2x+2y+4z, 3x+3y+z, 4x+4y+3z\},\
C_L(x+y+3z) = \{0, x+y+3z, 2x+2y+z, 3x+3y+4z, 4x+4y+2z\},\
C_L(x+y+4z) = \{0, x+y+4z, 2x+2y+3z, 3x+3y+2z, 4x+4y+z\},\
C_L(x+2y+3z) = \{0, x+2y+3z, 2x+4y+z, 3x+y+4z, 4x+3y+2z\}
C_L(x+3y+4z) = \{0, x+3y+4z, 2x+y+3z, 3x+4y+2z, 4x+2y+z\},\
C_L(2x+3y+4z) = \{0, 2x+3y+4z, 4x+y+3z, x+4y+2z, 3x+2y+z\}\}.
C_L(x+2y+4z) = \{0, x+2y+4z, 2x+4y+3z, 3x+y+2z, 4x+3y+z\}
```

$$C_L(x+3y+2z) = \{0, x+3y+2z, 2x+y+4z, 3x+4y+z, 4x+2y+3z\}.$$

One observes that |Cent(L)| = 27. On the other hand, by Theorem 2.10, the number of distinct centralizers must be $5^2 + 2 = 27$.

Theorem 2.12 — Let L be a Lie algebra over the field \mathbb{Z}_p such that dimL = 3 and $dimL^2 = 3$. Then $|Cent(L)| = p^2 + p + 2$.

PROOF: Let x be a non-zero element of the Lie algebra L, then extend x to a basis of L, say $\{x,y,z\}$. Clearly L^2 is spanned by $\{[x,y],[x,z],[y,z]\}$ and this set must be linearly independent. So we have $C_L(x) = \langle x \rangle$, $C_L(y) = \langle y \rangle$, $C_L(z) = \langle z \rangle$, $C_L(\alpha x + \beta y) = \langle \alpha x + \beta y \rangle$, $C_L(\alpha x + \gamma z) = \langle \alpha x + \gamma z \rangle$, $C_L(\beta y + \gamma z) = \langle \beta y + \gamma z \rangle$, $C_L(\alpha x + \beta y + \gamma z) = \langle \alpha x + \beta y + \gamma z \rangle$. Now for all non-zero elements $\alpha, \beta \in \mathbb{Z}_p$, we can write $(p-1)^3$ sets of centralizers of the form $C_L(\alpha x + \beta y + \gamma z) = \langle \alpha x + \beta y + \gamma z \rangle$, but every set contains p-1 elements and so we have $\frac{(p-1)^3}{p-1} = (p-1)^2$ distinct sets of the form $C_L(\alpha x + \beta y + \gamma z)$. Similarly, we have $\frac{(p-1)^2}{p-1} = p-1$ distinct sets of each $C_L(\alpha x + \beta y)$, $C_L(\alpha x + \gamma z)$ and $C_L(\beta y + \gamma z)$. So summing up all together we obtain $|Cent(L)| = (p-1)^2 + 3(p-1) + 4 = p^2 + p + 2$.

The following example justifies the above theorem.

Example 2.13: The distinct centralizers of the 3-dimension Lie algebra in Theorem 2.12 over the field \mathbb{Z}_3 are as follows:

$$C_L(x) = \{0, x, 2x\}, \ C_L(y) = \{0, y, 2y\}, \ C_L(z) = \{0, z, 2z\}, C_L(0) = L,$$

$$C_L(x+y) = \{0, x+y, 2x+2y\},$$

$$C_L(2x+y) = \{0, 2x+y, x+2y\},$$

$$C_L(x+z) = \{0, x+z, 2x+2z\},$$

$$C_L(2x+z) = \{0, 2x+z, x+2z\},$$

$$C_L(y+z) = \{0, y+z, 2y+2z\},$$

$$C_L(y+z) = \{0, 2y+z, y+2z\},$$

$$C_L(x+y+z) = \{0, 2x+y+z, 2x+2y+2z\},$$

$$C_L(x+y+z) = \{0, x+y+z, 2x+2y+2z\},$$

$$C_L(x+y+z) = \{0, x+y+z, 2x+2y+2z\},$$

$$C_L(x+2y+z) = \{0, x+2y+z, 2x+y+2z\},$$

$$C_L(x+y+2z) = \{0, x+2y+z, 2x+2y+z\}.$$

So |Cent(L)|=14 and using Theorem 2.12, we get the same number, i.e. $|Cent(L)|=3^2+3+2=14$.

3. LIE ALGEBRAS WITH ABELIAN CENTRALIZERS

In this section we study Lie algebras L, in which every centralizer of non-zero elements of L is abelian. Such Lie algebras are equivalent to commutative transitive Lie algebras (see Lemma 3.2). The concept of commutative transitive groups was first introduced and studied by Weisner [11] in 1925.

Definition 3.1 — A Lie algebra L is commutative transitive (henceforth CT), if [x, y] = 0 and [y, z] = 0 imply that [x, z] = 0, for any non-zero elements x, y, z in L.

The property of CT is clearly subalgebra closed, while it is not quotient closed, as every free Lie algebra is CT (see [9], Example 4.4 for more detail).

The Frattini subalgebra $\Phi(L)$ of a Lie algebra L, is the intersection of all maximal subalgebras of L or it is L itself, when there are no maximal subalgebras (see also [10]).

In this section, we study the concept of commutative transitive Lie algebras and among other results, their relationships with fully residually free Lie algebras are established.

Here, we introduce some basic notion and then prove our main results of this section.

Lemma 3.2 — For any Lie algebra L, the following statements are equivalent:

- (i) L is CT Lie algebra;
- (ii) The centralizers of non-zero elements of L are abelian.

PROOF: $(i) \Rightarrow (ii)$ Let L be a CT Lie algebra. For any non-zero element $x \in L$, if $y, z \in C_L(x)$ we have [y, x] = 0 and [x, z] = 0. The definition of CT implies that [y, z] = 0. Hence $C_L(x)$ is abelian.

 $(ii) \Rightarrow (i)$ Assume x, y, z are non-zero elements of L, with [x, y] = 0 and [y, z] = 0. Obviously $x, z \in C_L(y)$. By the assumption $C_L(y)$ is abelian and hence [x, z] = 0. Thus L is commutative transitive.

The proof of the following lemma is a routine argument by using Zorn's Lemma.

Lemma 3.3 — Every abelian subalgebra K of a given Lie algebra L is contained in a maximal abelian subalgebra.

PROOF: Consider the collection of all abelian subalgebras of L containing K, ordered by inclusion. We first show that in this partially ordered set, every chain has an upper bound. Indeed, given an ascending chain of abelian subalgebras and consider their union. We need to show that this is again

abelian. Given an ascending chain of subalbebras then for any two elements x and y in their union, one has [x,y]=0. Thus the partially ordered collection of abelian subalgebras containing K satisfies the condition that every chain has an upper bound in the collection. Zorn's lemma yields that there exists a maximal element in the partially ordered collection M, say. Hence K is contained in the maximal abelian subalgebra M of L.

The following fact is needed in proving our main results.

Proposition 3.4 — Let L be a non-abelian Lie algebra with $\Phi(L) \neq 0$. Then L has one maximal abelian subalgebra.

PROOF: Let L be a non-abelian Lie algebra with non-zero Frattini subalgebra, $\Phi(L)$. Without loss of generality, we may assume that M_1 and M_2 are maximal abelian subalgebras with $M_1 \neq M_2$. Assume there exists an element $m_1 \in M_1 \setminus M_2$, then clearly

$$M_2 \subseteq M_2 \oplus \langle m_1 \rangle \subseteq L$$
.

If $M_2 \oplus \langle m_1 \rangle = L$, then L is abelian which contradicts our assumption. Hence m_1 must be in M_2 and so $M_1 = M_2$.

Using the above proposition and Lemma 3.3, we obtain the following useful result.

Theorem 3.5 — Every non-abelian Lie algebra L with non-zero Frattini subalgebra is CT.

PROOF: Let L be a non-abelian Lie algebra, for which $\Phi(L) \neq 0$ and assume that [x,y] = 0, [y,z] = 0, for non-zero elements x,y,z in L. Suppose that M_1 and M_2 are maximal abelian subalgebras in L, which contain two abelian ideals $I_1 = \langle x,y \rangle$ and $I_2 = \langle y,z \rangle$, respectively. Then Proposition 3.4 implies that $M_1 = M_2$, which gives [x,z] = 0 and so L is CT.

In 2010, Klep and Moravec [9] classified all finite dimensional commutative transitive Lie algebras over an algebraically closed field of characteristic 0. They proved that these Lie algebras are either simple or soluble, where the only simple such Lie algebra is sl_2 . Also, they showed that in the soluble case, Lie algebras are either abelian or a one-dimensional split extension of abelian Lie algebra (see [9] for more information).

Now, using Theorem 3.5 one can easily see that every non-abelian Lie algebra with $\Phi(L) \neq 0$ is either simple or soluble. One notes that all the results on CT Lie algebras in [9], carried out the assumption of non-triviality of Frattini subalgebras.

In the following, we focus on non-abelian CT Lie algebras and give some structural results.

Theorem 3.6 — The centre of a non-abelian CT Lie algebra is trivial.

PROOF: Assume L is a non-abelian Lie algebra with non-zero centre and z is a non-zero element in Z(L). Clearly, for every non-zero elements $x, y \in L$

$$[x, z] = 0, [z, y] = 0,$$

then the definition of CT Lie algebras implies that [x, y] = 0. Hence L is abelian Lie algebra and this contradiction gives the result.

A derivation of a Lie algebra L over a field F is an F-linear transformation $d:L\longrightarrow L$ such that

$$d([x,y]) = [d(x),y] + [x,d(y)],$$

for all $x, y \in L$. We denote by Der(L) the vector space of derivations of L, which forms a Lie algebra with respect to the bracket of linear transformations, called the *derivation algebra* of L. Clearly, the space

$$ad_L = \{ad_x | x \in L\}$$

of inner derivations is an ideal of Der(L).

Theorem 3.7 — Let L be a non-abelian CT Lie algebra, then Z(Der(L)) = 0.

PROOF: It is clear that L is centre less Lie algebra. Assume that $d \in Z(Der(L))$. Then in particular we have $dad_x(y) = ad_xd(y)$, and hence d([x,y]) = [x,d(y)], for all $x,y \in L$. Hence by the definition of derivation, [d(x),y] = 0, for all $x,y \in L$. Since L has trivial centre, we obtain d(x) = 0, i.e., d = 0. Therefore Z(Der(L)) = 0.

Let χ be a class of Lie algebras. Then a Lie algebra L is *residually* χ if for every non-zero element $x \in L$, there exists a homomorphism $\phi: L \to K$, where K is a χ -Lie algebra such that $\phi(x) \neq 0$. Also a Lie algebra L is *fully residually* χ , if for finitely many non-zero elements $x_1, ..., x_n$ in L there exists a homomorphism $\phi: L \to K$, where K is a χ -Lie algebra such that $\phi(x_i) \neq 0$, for all i = 1, ..., n.

In 1967, Baumslag [3] introduced the notion of fully residually free groups and proved that a residually free group is fully residually free if and only if it is commutative transitive. A group G is commutative transitive, if [x,y]=1 and [y,z]=1 implies that [x,z]=1, for non-trivial elements x,y,z in G.

Lemma 3.8 — (Bokut and Kukin [5], Lemma 4.16.2). A Lie algebra L is fully residually free if and only if, for every two linearly independent elements x_1 and x_2 in L, there exists a homomorphism ϕ from the Lie algebra L into a free Lie algebra \mathcal{F} such that the elements $\phi(x_1)$ and $\phi(x_2)$ are linearly independent in \mathcal{F} .

Now, using the above lemma we give the following result concerning free Lie algebras.

Theorem 3.9 — Let L be a residually free Lie algebra. Then L is fully residually free, if and only if L is CT.

PROOF: Without loss of generality we may assume that L is non-abelian Lie algebra. Now let L be a non-abelian residually free CT Lie algebra over a field F. Then we show that for given non-zero linearly independent elements x_1 and x_2 in L, there exists a homomorphism $\phi: L \to \mathcal{F}$ such that \mathcal{F} is a free Lie algebra and $\phi(x_1)$ and $\phi(x_2)$ are linearly independent. Hence Lemma 3.8 implies that L is fully residually free.

For every non-zero element x_1 in L, there exits a homomorphism $\phi: L \to \mathcal{F}$ such that $\phi(x_1) \neq 0$, as by the assumption L is residually free Lie algebra. On the other hand, Theorem 3.6 implies that Z(L)=0. Hence, $[x_1,x_2]\neq 0$ for some x_2 in L. So x_1 and x_2 are linearly independent in L. Clearly, $[\phi(x_1),\phi(x_2)]\neq 0$, as \mathcal{F} is free Lie algebra. Then $\phi(x_1)$ and $\phi(x_2)$ are linearly independent and hence L is fully residually free.

Conversely, let L be a fully residually free Lie algebra such that $[x_1,x_2]=0$ and $[x_2,x_3]=0$, for any non-zero elements x_1,x_2 and x_3 in L. Assume that L is not CT and $x_4=[x_1,x_3]\neq 0$, then there exits a homomorphism $\phi:L\to \mathcal{F}$, where \mathcal{F} is a free Lie algebra and $\phi(x_i)\neq 0$ for i=1,2,3,4, as by the assumption L is fully residually free Lie algebra. Hence, $\phi(x_4)=[\phi(x_1),\phi(x_3)]\neq 0$. Now, to prove our claim it is enough to show that either $[\phi(x_1),\phi(x_2)]\neq 0$ or $[\phi(x_2),\phi(x_3)]\neq 0$. But both of which contradict the assumptions $[x_1,x_2]=0$ and $[x_2,x_3]=0$, respectively. Thus $[x_1,x_3]=0$ and L is CT Lie algebra.

ACKNOWLEDGEMENT

The authors would like to thank the referee for the helpful suggestions, which made the article more readable.

REFERENCES

- 1. A. Abdollahi, S. M. J. Amiri and A. M. Hassanabadi, Groups with specific number of centralizers, *Houston J. Math.*, **33**(1) (2007), 43-57.
- 2. A. R. Ashrafi, On finite groups with a given number of centralizers, *Algebra Colloq.*, **7**(2) (2000), 139-146.
- 3. B. Baumslag, Residually free groups, Proc. London Math. Soc., 17(3) (1967), 402-418.

- 4. S. M. Belcastro and G. J. Sherman, Counting centralizers in finite groups, *Math. Magazine*, **67**(5) (1994), 366-374.
- 5. L. A. Bokut and G. P. Kukin, *Algorithmic and combinatorial algebra*, Kluwer Academic Publisher, 1994.
- 6. L. Ciobanu, B. Fine and G. Rosenberger, Classes of groups generalizing a theorem of Benjamin Baumslag, *Comm. Algebra*, **44**(2) (2016), 656-667.
- 7. C. Delizia, P. Moravec and C. Nicotera, Finite groups in which some property of two-generator subgroups is transitive, *Bull. Aust. Math. Soc.*, **75** (2007), 313-320.
- 8. Karin Erdmann and Mark J. Wildon. *Introduction to Lie algebras*, Undergraduate Mathematics Series. Springer-Verlag, London Ltd., 2006.
- 9. I. Klep and P. Moravec, Lie algebras with abelian centralizers, Algebra Collog., 17(4) (2010), 629-636.
- 10. E. Marshall, The Frattini subalgebra of a Lie algebra, J. Lond. Math. Soc., 42 (1967), 416-422.
- 11. L. Weisner, Groups in which the normaliser of every element except identity is abelian, *Bull. Amer. Math. Soc.*, **31** (1925), 413-416.